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Ideals for irreducible component#ﬂ)f Xpar

I = (" —u™ 4 —u 1)

* 1 irreducible components of dim¢ = 0, with total 42 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u*?—ur+..- —u+1)

(i) Arc colorings

" ()

1
a7 = 0
1
ag = U2
—u
a3 = \—ud+u
—u? 41
ag = u?
ud
a1 = \uw—ud+4u
uwt—u?+1
a6 = _u4
—uS +ut -2t +1
alO = u6 _|_ u2
wlt — ul? 4+ 4410 — 308 + 208 — 202 + 1
a11 = \ % — 2y + 6u'? — 8u!Y + 10u® — 6u’ + 4u?
W — 2 4+ 1205 — Bud
ay = u29—3u27+~-~—u3+u
ud —ul +3ut —20u2+1
as = —u8 — 2ut
u3? = 3ud0 + - =202 + 1
a2 = \ —u3% + 2030 4 - — 60 + 4u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u*! —16u®? + - —4u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,Cs5,Ce w2 3u41
€8, C9
€2, C7 u? +utt a1
€3 ut? —utt 4 Tu 1
C4,C11, C12 u Futt 4 3u 1
c10 u? + 1M+~ B5u+3




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,Cg y42+57y41++21y+1
s, C9
ca, C7 Yy =Tyt =3y 1
s yP2 Tyt =3y + 1
C4,C11, C12 Y2+ 37yt . =3y +1
c10 y*? =3yt 4. 535y 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.681333 + 0.7544551

0.36250 — 4.458841

0.58642 + 2.497821

= —0.681333 — 0.7544551

0.36250 + 4.458841

0.58642 — 2.497821

0.815313 + 0.5449971

—3.06628 — 1.972241

—3.93875 + 4.402961

= 0.815313 — 0.5449971

—3.06628 + 1.972241

—3.93875 — 4.402961

0.718210 + 0.7407921

5.29261 4+ 0.885041

5.49396 — 1.239261

= 0.718210 — 0.7407921

5.29261 — 0.885041

5.49396 + 1.239261

= —0.809919 + 0.6784951

2.91299 + 2.572101

0.86185 — 2.862121

—0.809919 — 0.6784951

2.91299 — 2.572101

0.86185 + 2.862121

—0.785663 + 0.7132461

3.00195 + 2.596271

1.81535 — 3.784631

—0.785663 — 0.7132461

3.00195 — 2.596271

1.81535 + 3.784631

= 0.862775 4 0.2794741

—5.58236 — 6.061911

—7.57750 + 8.260851

0.862775 — 0.2794741

—5.58236 + 6.061917

—7.57750 — 8.260851

= 0.874849 + 0.6721041

4.77268 — 6.117581

3.66668 + 7.812651

= 0.874849 — 0.6721041

4.77268 + 6.117581

3.66668 — 7.812651

—0.900846 + 0.6574741

—0.36475 4 9.680441

—1.43034 — 8.544641

—0.900846 — 0.6574741

—0.36475 — 9.680441

—1.43034 + 8.544641

= —0.844548 + 0.1208801

—6.39911 — 1.659101

—10.56317 — 0.313091

= —0.844548 — 0.1208801

—6.39911 + 1.659101

—10.56317 + 0.313091

—0.797938 4 0.2923741

—0.41890 + 3.102791

—2.43445 — 9.365861

—0.797938 — 0.2923741

—0.41890 — 3.102791

—2.43445 + 9.365861

= 0.718845 + 0.1519091

—1.185460 — 0.3861871

—7.35672 4 0.558431

0.718845 — 0.1519091

—1.185460 + 0.3861871

—7.35672 — 0.558431

0.486298 + 0.5303011

—2.30134 — 1.968871

0.29013 + 3.561211

= 0.486298 — 0.5303011

—2.30134 + 1.968871

0.29013 — 3.5612171

—0.937864 + 0.9070451

6.05226 + 3.342881

—2.00000 — 2.333421

—0.937864 — 0.9070451

6.05226 — 3.342881

—2.00000 + 2.333421

S| || |e|g|2 || (g|g|g|g |2 |g|g|g|g|g8|g|g|g|g|g|g|ge |

= 0.925718 4+ 0.9389591 10.35550 4 4.976971 0. —2.327081
= 0.925718 — 0.9389591 10.35550 — 4.976971 0.+ 2.327081
= —0.932788 4 0.9365441 15.4788 — 1.04211 5.04588 + 0.1

= —0.932788 — 0.9365441 15.4788 + 1.04211 5.04588 + 0.1




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u= 0.941607 4 0.9301021 13.34440 — 3.107241 2.23436 + 3.370481
u = 0.941607 — 0.9301021 13.34440 4 3.107241 2.23436 — 3.370481
u= 0.953922 + 0.922825] 13.30320 — 3.704571 2.13928 + 0.1

u= 0.953922 — 0.922825] 13.30320 4 3.704571 2.13928 + 0.1

u = —0.963591 + 0.9189301 15.3766 + 7.86171 4.81414 — 5.733651
u = —0.963591 — 0.9189301 15.3766 — 7.86171 4.81414 + 5.733651
u = 0.968815 4+ 0.9144651 10.2127 — 11.78901 0.+ 6.813921
u= 0.968815 — 0.9144651 10.2127 + 11.78901 0. —6.813921
u= 0.155278 4- 0.5361251 —3.38219 + 3.265791 0.36679 — 2.810061
u= 0.155278 — 0.5361251 —3.38219 — 3.265791 0.36679 + 2.810061
u = —0.267141 + 0.4375161 1.191110 — 0.4378161 6.95012 4 1.071341
u = —0.267141 — 0.4375161 1.191110 + 0.4378161 6.95012 — 1.071341




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1, 65, C6 u + Tutt 4+ 3u+ 1
€8, C9
ca, c7 u? a1
3 u'? —utt T
C4,C11,C12 U42+U41+"’+3U+1
C10 U42+11U41+"'*5U+3




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C5,Co y P 5Tyt 4 421y + 1
€8, C9
C2,C7 y? =Tyt 4 =3y +1
€3 y?2 =Tyt 4 =3y +1
C4,C11, C12 y*? + 37yt . =3y +1
€10 y*? —3y* + .- — 535y +9




